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2y =0.7:Ppe=4.8815-0.3861 v ¢, Tpc=92.2222+176.6667 v, (1)
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X, a=-0.02T +0.05T; —0.077,, +0.04, b=-0.02xT, +0.207, —0.667, +0.94T, ~0.48 ,
c=0.11xT) ~0.99T; +3.21T, ~4.527,, +233, d =—-021xT,, +1.857, ~5.97T; +8.32T, ~4.22,
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b=—44588x T} +2016.42T —3409.017 +2553.46T,, ~715.17 ,
¢=27.64xT, ~124.587, +209.897, ~156.59T, +44.63 ;

1. 4<Pp<5H1.05<T<1.25,

Z=axP, +bx P, +cx Py +dx P, +exP, + fxP, +g (6)

R, a=240xT, —8.18xT. +9.24xT, —3.46 ,

b=-5424xT, +185.07xT, ~209.59xT, +78.16 » ¢ =492.57x T, ~1684.46xT, +1912.01x T, —720.27 ,

d ==229535x T, +7867.61x T, ~8952.02x T, +3380.75» ¢ =5766.41x T, ~19816.36 %7, +22608.71xT,, —~8561.99 »
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P
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AT E A N AR R, LA RTINS R R IR AR FIT R 25 1 77 RAR SR i AL 2 X 5, T
FIH A S R AR R IR TR A6, B RYEIRAT B A N 25 A R AR RS 4 R 7 o S
i PN AE L i AR ) SRR A P RSN 7 7 B & R ASORG EANRSR SR 7k 77, R A1 H
FRAFHI) RAR ORGP0 2 FH 18] A 25 sl ARG 577 O 1R R 0 2R 0 2) AR SR R AR LA
FERHE , FFRAE D IR ) A oRATHIH 1 N 25 i AL RAR U AA A 5 KRR L S RIR ARG AN
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RIRZARM TR FTCL R IR A 25 s AR 4557t (0 B 70 R0 7 Sl SR O i
PR A T S5 5 5 3) AR AR I Dk 79 AR, 1 2D 3R 2) o oRAT A e 55 ¥
PSP R e 1 R S BEAT B, I B K TS Tl SR A, AR I
FRIE pJ da b J2 5 775 3 2D o SR i 4550 &R 0 L R I I e 32
A I UL S v SR A I S s e S Ul s %2

[0006]  FEFIALERL) b, AR 55 77 AR R B P A 8 A M e 57 2 e 365X
[0007] 4y =0.7:Ppc=4.8815-0.3861 Y g, Tpc=92.2222+176.6667 v, (1)

[0008] 4y ¢<0.7:Ppe=4.788-0.2482Y ¢, Tpc=92.2222+176.6667 v o  (2)

[0009] SR ATLNT Y i 7 ATARAGS L I JSE Pk 3 0 AT L s 77 R B3 8 22 5

[0010]  Ppr=P/Ppc, Tpr=T/Tpc  (3)

[001] TSR A T e B LXE-RMP Y 22 3K -

[0012]  0<Ppr<5H.1.25<<Tpr<<3,Z=ax P +bx P +exPh+dx P vex P+ [xP +g (4)

[0013] R, @a=-0.027) +0.05T) ~0.077,, +0.04» b=-0,02xT, +0.207, —0.667, +0.947, —0.48 ,
e=0.11xT}: 0997 +3.21T. ~4.52T,, +233, d=-021xT, +1.85T, -5.97T  +832T, —4.22,
e=0.16xT, 1177, +3.64T, —4.85T +2.31, f=-0.11xT, +0.99T) -3.31T  +4.92T —2.80,
g=0.03xT} 0217, +0.647 —0.827, +1.38;

[0014]  X0<Pp<1.4H1.05<T,,<1.25,Z=uxF, +bxF, +c (5)
[0018] 31, @ =344.09% T, ~1536.27T,, +2557.39T,, ~1879.43T,, +513.82,
b=—44588xT, +2016.42T, —3409.017, +2553.46T,, —715.17 ,

¢=27.64xT, 124587, +209.89T ~156.59T,, +44.63 ;

[0016]  41.4<Pp<5H1.05<T,<1.25,Z =axFy+bxP, +cx Py +d Py +exP} + [x P, +g (8)
(0017 1, a=240xT, ~8.18x T2 +9.24xT, ~346,

b=-5424xT, +185.07xT, ~209.59xT, +78.76 » ¢ =492.57x T, ~1684.46xT,, +1912.01xT,, —720.27 »
d =-2295.35xT;, +7867.61x T, ~89S2.02xT,, +3380.75 » ¢ = 5766.41x T, ~19816.36x T, +22608.71x7, ~8561.99 »
£ =-7371525 T + 25411365 T ~29086.96% T, +1105243» g=3721.72« 7, ~1288047xT_ +14806.69x7, —5651.26 ¢
[0018]  45<P,<9H1.05<T<3, Z=aXPut+b (7)

[0019] Rt , a==0.03xTS +036xT, ~1.7IxT, +4.18xT, ~554xT. +3.64xT, ~0.77 ,
b=0.19xT; —2.17xT, +10.36xT, —26.04xT, +36.15xT, —25.25xT, +6.81;

[0020]  {9<P,<15H1.05<Tpu<3,Z=aXPut+b (8

[0021]  FH, @=0.017, +0.027; —0.157,, +0.24» b=0.10xT, —~0.86%7,, +237xT, =2.11x T, +0.633

[0022] 415<Pn:<30H.1.05<Tn<3, Z=aXPpth (9)
[0023]  FH, @=002xT) ~0.157), +0.527, = 0837, +0.57 + b=~0.14x 1T} +135F, 4787, +7.72T, —421 ¢

[0024]  FEFTADERD B, SRR TR 2 5K
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P}/g ‘

[0025]  p, =3.884x10" - (10)

&N 8

[0026] S, p N RIR T ARG 0 I 77 AR AR T RO L, 2o RIR R4 R

(00271 FEFTIR DR Hh , tHEIRIR AR 2 F BRI YR ) 2 5
ZTp,

[0028] M, 6 =— "% (11)
g™ 0.12037P

[0029] S, M RAR SAHXS 70 F L&

[0030]  FERTIABIRD HF, THERIRR *H“F)TWTEEI’J/\JQ

[0031]  u, =107 K =exp(X p,) (12)
2.6832x107°(470 + M )HT"?

[0032] K= x ,( +_ ) (13
116.11 11+10.5556/11/1g +7

[0033] X = 01009x(350+34777'7+M‘g) (14)

[0034] Y=2.447-0.2224X (15)
[0035]  KHp, u A RARSAE— B K SIPFIR T4 S AN
[0036]  FEfTR IR, tHE R IR AR MK ka1 & 2
_18(13778=T)¢ .\ 4 i _ o e
[0037] o= o [0(23.33) - 0(137.78) | + a(137.78) (16)
[0038]  0(23.33) =76Xe 0002 (17)
[0039]  0(137.78) =52.5-0.87018P (18)
[0040]  FERTARIRD R A EE LRGN WS IER B 7 REA

[0041] C, = 24 +3.409x Re s 3083 3'68 XIO -5 XRB
. Re 1 +4.5%10° x Re! %

(19)

02 ﬂg_-

d, U,
[0043] P, g MRV &, Re B B, doi IR K2 N 72
[0044]  FEFTA A ER2) SRR K I A B & i se ST ik i v A =K
[0045]  Feg+Fo=Gy (21)

i -2

0046 —dZC “’- +fd3 =Z (22)
[00ae] S Pt d P8 =ding
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[0042] Re=1.766x1 (20)

[0048] u, = | (23)

[0049] ., ucrjj{ﬂlm”#llﬁﬁ#%z
[0050] ﬁrﬁyﬁkﬂﬁuﬁaﬁéﬁﬁmﬁﬂﬁ/\ﬁ:
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[0051] N _ Pl (24)
) o
300 o
[0052] d=— (25)
g, P,
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[0054] 5 TR Ul S S5 ) v 5 2 5K

0.25

[0055] o= 40g§('01 —'03) (96)
“ X 24 ; . E o 3_’68)(10“5 P& Re R
P4 3.409x Re 3% 4
. Rg(Re ¢ l+4.5x105><R€;1‘OS4)

[0086] 5l FAERIL & I kP ) 2 5K

[0057] g, =2.5%10" xi% (27)
T
b §D
[0058] 4 :% (28)
[0059]  SQH, qer A S H G S AR = A I A I AR
[0060]  7EFTIA S IRS) b, R PR ARH I & AR =5 , #8 2 K A SRS 6
IR
[0061] P —P=Aq+Bq (29)
x
PO S SN 3
[0062] A=—1 (30)
NXg -XgXyg
2
[0063] NEZap' - g
B= 4 (31)

NYg*-Xq¥q
[0064] Ko, pue N H WL, proAHL R JE 77, AN 2 00 01 R 50, BN Z R R B,
Ap® = py = poy NRIRK S0 AR T &
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[0066] P, =+P! —(4q, +Bq>) (32),
[0067]  fERTAR D IRS) b, vF Sl S I 22 Fr Ak 1 A 28
[0068]  Aptest=pr—pw (33).
[0069] A EHHH TR EREARTT S, HEA LT A 1 A K B AR B8 AR I R AR A A
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ELRE PR AT B B A 2, I 3T TurnerBU , 36357 A A AR LML 2 07 5 56 12
B IE 71 RBOH AL, 7 7 SRR IR A A 0 1w S 45 VR0 AT I 5748 VU = A
Y, A B IS T2 I 7 AR T R 5 o £ P 5 L B8 % 5 VR K I AR 4 o B A VRS O 34T
AEL AW, TR A SRR A m R I S A HER, DL S Turner B AL R A e {H

9



CN 106600442 A w Bg B 5/9 7
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kit (&1 AR
[0070] P 1& AR BRI RS Mo B

BiAEXEAR

[0071] 71 145 BT B NS A5 0o A B BEAT VRANI ik
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¥R

[0073] 1) w0 Il &, AR A &R R AR AUHE e 285 R Al A N A s, DA S
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JERARTHR 7 R R TURG AR AR R I 7K 7, JF R FHRAT I R IR ORS 2 H%E#
] A 2% ARV 5 7 S 1 B 70 2R3

[0074]  ZE09R1) b, TSI RN & SAL B R AR UL SRR A B AR AR T

[0075]  (DMRHEAIm F 2 H e 3 20, R 5 7 A4 e SRR, e, THSE AR I 5
JIAIAR M S P s AT - 2 8 2 56 2 5

[0076] v =0.7:Ppe=4.8815-0.3861 7Y ¢, Tpc=92.2222+176.6667 v (1)

[0077] 24y 4<0.7:Ppc=4.788-0.2482 v ¢, Tpc=92.2222+176.6667 v s (2)

[0078] S, v A RIR XS B L, Poc R IR IR 51 77, Toe 9 RIS AR e R
s

[0079] W AXS EL IR F3 IR B TR B2 v SRR B S 2 ARG B 5L BT A 95 FR A% L
JE A E iR A 2

[0080]  Ppr=P/Ppc;Tor=T/Tpc  (3)

[0081] X, Poe XS LU IE 77, Tor AR LR E , PR IR ST AL L0 5 77, TR IR AT A 4 %
TR

[0082] (DR HEARAS LL IS 3 IR EL IR B2 v SRR SR AU AR =, Hovb, TR R AR UL 4 )
T HE I LXE-RMP (“mkg 2 4 1 ) AT YU ) R AR U 22 RBUB TR 1O A 2K
[0083]  40<P,<HH1.25<T,<<3,Z=axPy +bx P, texPr +dxP, +exP.+ [xP, +g (4)

[0084] i1, @a=-0.02T) +0.057, —0.07T, +0.04 , b=~0.02xT, +0.207" ~0.667, +0.947, ~0.48 ,
e=011xTy —0.99T, +3.217. 4527, +2.33, d=~021xT, +1.85T —5971" +8327, ~4.22,
e=0.16xT, —1.17T, +3.641, 4851, +2.31, [=-011xT, +0997, ~3317, +4.921 -2.80,

3 4 8 T 3 AL N1 g G-
g=0.03xT,, 0217, +0.647, —0.827 , +1.38;

10



CN 106600442 A w Bg B 6/9 T

[0085] 40<Ppn<1.4H1.06<T,n<1.25,Z=axP, +bxP, +c (5)

[0086] T, a=344.09xT ~1536.27T, +2557.39T. —1879.43T +513.82,

b =-445.88x Tp", + 2016.42Tj‘, ——3'4-09-.011;)2,. +2553.467, —715.17 4

¢=27.64xT, ~124.587, +209.89T —156.597T,, +44.63 3

[0087]  41.4<Pp<56H1.05<T,»<1.25,
Z=axﬁ§+bxﬂi+cxﬂi+dx€i+exﬁi+fxﬁw+g (6)

[oo8g] i1, a=2.40xT, ~8.18xT, +9.24xT, —3.46,

b=-5424xT, +185.07xT; ~209.59xT, +78.76 » c=492.57x T ~1684.46x T, +1912.01xT, ~720.27 »

d ==229535% T} +7867.61x T2 ~8952.02xT, +3380.75 » e =5766.41x T, 1981636 %7, +22608.71xT,, ~8561.99 »

[ ==T371.52xT) 4 25411.36x T ~29086.96x T, +1105243 7 g =3721.72xT, ~12880.47x T, +14806.69x T,, —5651.26 3

[0089] 45<<P,,<9H1.05<Twu<3, Z=aXPuth (7)

[0090] =Xt , a=-0.03xTy +036xT) —1.71xT, +4.18x T, ~5.54x T +3.64xT, ~0.77 ,

b=0.19xT, =217, +10.36x T, ~26.04x T, +36.15x T, ~2525xT, +6.81;

[0091]  49<<P,<15H1.05<Tnu<3,Z=aXPuth (8

[0092] X H, @=0.01T) +0.027; —0.157, +0.24» b=0.10xT, ~086xT, +237xT, ~2.11xT +0.633

[0093]  415<<P,,<30H1.05<Tu<3, Z=aXPuth (9

[0094] S, = 0.02xT), ~0.15T), +0.527), 0837, +0.57» b=—0.14x T, +1.35T) —4.78T, +7.72T, ~4213

[0095]  FESDHRD) h, THE RN TR P 0 2 51K
P

[0096]  p, =3.884x10° x & (10)
zr

(00971 b, 0 Y RIR ST Ab 0t I 77 A0 T LS A T BB T, 2 R IR U4 R
[0098]  FEAERD th, VRIS 21 BRI kS R 2 5K

_ ZTp, (11)
£ 0.12037P

[0100] =1, My RIRSAHN 43 i & 5
[0101] 7B 3RD) v, TR IR OR B P ikl i) A 10
[0102]  p, =10 K *exp(X p}) (12)
2.6832x107(470+M )T
116.1111+10.5556M , +T
547777

[0099]

[0103] (13)

[0104] X =0.1009% (350 +

+M,) (14)

[0105]  Y=2.447-0.2224X (15)
[0106] 3, N R SAE— 52 I FTPANIER FETZRAF N IR S5 5
(01071 FEBHRD i, THE RIS R TR STk H i 2 1K

11
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oo 1.8(137.78~T)
206

[0109]  0(23.33) =76 X e 0-P0%DF  (17)

[0110]  0(137.78) =52.5-0.87018P  (18)

01111 FEDERD v, R AR ZR PR L5 T VA AR U U2 IR 0 R 77 R A 5

[0108] [0(23.33)~01(137.78)] + 0(137.78) (16)

p 5 :
[0112] Cd=£+3.409xRef“”‘3”85+ 3'68‘“105 ><R1€:054 (19>
Re 1+4.5%x10° x Re”
[0113] Re=1.766x107 L2 (20)

dyp,
[0114] K, g NIPRIT &, Re N FEEEL, dei N IR H N 7.
[0115]  2) ARG QB RAR AR Z JEHAR , FARAE P IR D) TP RAFH T A & s b R4
PRl R SR 2 R AR ARG FE AR AR AR 1 7k 77 B S AT N 4% s AR VR 485 7 tH o G R,
77 FH VHEIR KRR R S5 R A SO &
[0116] 4 ST AR H: v VA 2o AR 8% 7 HH 17 AR 408 VR A5 2R A 1AL, R HH R
KRR SRR T 75 A SR A A A ) s RV 48 ) 3a By o R 4B s RV 52 771
{5 AT DA 58 VR K A I SRR , B s KRB P 32 3% 1 5 R i M T A B H 77, IRIE
AR R &G /1 rik s it B A
[0117]  FgtFo=Gy (21)

iy 2 . : ‘ ‘
o118 2, % p + Ed g =2 d pg (22)

i

(01191 Kb, F RIBARTE 77, Fos Ui 877, G B T 77, ORIBE B4R, Can 7T RN
er AU I SR » 0o A U S g A EE T IR, o A VBRAA 2
[0120] ¥ (20) A1 (21) , FEERAT BIGRA P Tl S HEM A ) T 5 2 5K

4od(p, —
[0121] u, = 184(p —py) (23)
‘ 3Cdpg

[0122]  30rp, uee AP H e SISV

[0123]  Hy T-¥R0 ELAR 32 S A ABEE F9 B4 & 1 7k A R4 1, A AR 77k B A i
Y, R K A7l R ROR S 4R, DR AR = AR B8 0% i 0 i VR ELAR - B (R ok i
305 , S A ABHIE 77 RS 4 1 5K 3 18] ) ST BT B, VRO 2 DR, T S A KV LR I
e IS

[0124] NW:W:% (94)
o
30
[0125] d=u.2; (25)

[0126] 1, Nee A FAHEL, AN AR H AR -
[0127] Kz (18) 1 (24 RN AN (22) , Bt 5 VAN T i S i 1 v 5
N

12
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[0128]

[0129]

[0130]

[0131]

[0132]
[0133]

0.25
% 40go(p -~ p,) (26)
3‘»68-)(10775 DY Re ) s
144.5x10° x Re'™
VIS SR ST e A 3K
APqu

uC}"

Pj (% £3409x R385 4

g, =2.5%10% % (27)

4=——"0 (28)
4

S dee A I 545 B0 & A I E A A
3) MR AR A AR A K 2D R 2) ORI s SR & 5P R D

10°zd;

SE [ IR R REAT B, S it B K T 55 T i S5 MO S, I AR T A sk a1
JE IR 77, 320 o SR S I SRR & 4 R H R » 4575 A A I s v
SRR IR A P 85 e 57 Dl s 22 5

[0134]

ATFE:

[0135]

[0136]

[0137]

[0138]

7825 3) o AR AR TR A7 RO BB 0 K T I R A 7 T
P}~ P, =Aq+Bq’ (29)
S P NS -
N Tava .
NZ A’ —EA—piZq‘
B= quz_zqqzq (31)

ﬁl:':l ,Dwfﬁﬁﬁﬁ‘bﬁﬁi,pRyilf@E}_‘Ejj’Ayﬂg‘?ﬁiﬁ%%ﬁ,Bjﬂ%?ﬁIﬁ%iﬁ,

AP® = i = Py NI A QO ABIF AR

[0139]

FEDURS) vh, AR T ) O a3t J2 s 77, T SRR R e A G &

X PR S i s i ah 1) 2 3

[0140]

[0141]
[0142]
[0143]
[0144]

'ij" = \/662 - (Aq{’r +B qczr) (32 )

FEA BRI o, v E I A Z P AR PR A =X
Aptest=pr—pwt  (33) o

A 2 LA SE T A5 DA U BH B E 5 B IR R I A
VB & S &5

13



CN 106600442 A w Bg B 9/9

[0145]
MR B ARG HE R F . p,=2. 8145 MP, (IR
Wk A P,y MP, g GLEK/R)
1 2. 7794 121350
9 2. 7166 262200
3 2. 6098 440120
4 2. 5001 571010

[0146]  Hrp NET4, R 20 (29) , RGA=0.01275, IRHE 22 (30) , 2R1FB=0.00029;
HA%HB&N%@S) SRAFATK I AR A 7 e — AT 72

[0147] P}~ P, =0.01275g+0.00029¢" .

[0148] L3 2 SEHE B DA T UL AR, H b 25 3P 45 4 5 25 4 T LA P
ARAGH s N AE AR R B T5 58 (1) H iy B AT () 55 (R A2 RIS , AN RLHRRR 72 AR T I
TR L b
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AN SR ERRERT
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K1
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